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Question Number : 1 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

If A={1, 2, 3, 4}, then the number of
functions on the set A, which are not

one - one, 1s :
Options:
1 232



%240

Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

AEA ={1,2,3,4} &, T =T A R Fer
Hﬁmﬁﬁﬁ?ﬁ%

Options:
1. 232
2 240
3. 248
4. 256

Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

od A={1,2, 3,4} i, ol 2is-2l5 4 &1 sl
el A Wzl [l v sedl )

Options:

1. 232

2. 240



3. 248

4. 256

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The sum of the values of x satisfying the
equation, Jr(Vx—4)-3 Wx—2+6=0
(x=0),is:

Options:
1. 26

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T Jx (x —4)-3 [Wx —2/+6=0
(x=0) T T FH Tl x F AT FH ATEA

?:
Options:
1. 2



Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

wllsrelx (Vx —4)-3 Wx =2 +6=0 (x=0)
o 23 52l v AL Exedl Al 2ol
2L,

Options:
1. 26

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If m be the least wvalue of
z—3+i4/24|z2—5-42[2, zeC attained at

z =z, then the ordered pair ( 2y, m) is equal

to:
Optiqns:
1. (V13, 10)

9 (17, 20)



3 (V17, 10)

4 (13, 20)

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A 2=z, W |z—3+i42+|z-5-i22 zeC
1 9 N FATH HA m 8, o HHd g
{z{},m}iﬁﬁﬂ%:

Options:

1. (V13,10
2 (17, 20)
3. (17, 10)

A (13, 20)

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

o z=z, AN |z-3+i42+[z-5-i2%
zeT et Bud maReL 53 €, dl s9sd
sS (zgbm)=________ .

Options:

1. (W13, 10)

2 (17, 20)



3 (V17, 10)

a (13, 20)

*

Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

[f for some ¢ < 0, the quadratic equation,

2cx?—2(2¢—1)x +3c?=0 has two distinct

real rools, ; and E then the value of the

determinant, 1 1+ b 1

Options:

1. 2

Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Tfg fFdl c < 0 F foau fgema gHEHTm
20ex2—-2(2c— 1)x+3c2=0 % = o= amafas

1 an s _
LG €, @ =rfus
Hida 1 1

1 1+b 1 |=iaAE:
1 1 1+ ¢

Options:



—
-3

2. ¢

4
3. 3
4. 1

Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

sl 51895 ¢ < 0 We [gaua wdlszel
2e02-2(2c-1)a+3c2=0 A o [tz oilsd

: 1 . -
— A —  ¢lA, dl [z14s
a b
.1 b a 1 1
1 1+b 1 |-l Bud=
1 1 1+ ¢
Options:
1 2
3 0
4
3.3



Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

5
_y] ;x, ye R,
Y

Lem:[l
1
It'éﬂ—lu (¢ R), then a+y? i
BT She (e € R), then a+y~ is

equal to :

Options:

1. *

9. V2 -1

4 2

Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

-9
AT A:[ll ‘y];x,y..nﬂ 1 afz
y

1 0 G
AATz[,' }{mm%’,muw-’-aﬂm

U o
g
Options:
1.
2, VI-1



Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

e x 29 -
ils A= ;x,yeR. &l
Ly
S 1o " )
AN = (o e R) Gl dl
0 o
0 3;2=______.
Options:

1‘1

e
[

Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Let Sn denote the sum of the first n terms of
an A.P., ay, @y 8y, ..., A If ast+ag=1 and
Sijzﬁr then which one of the following is
not true ?

Options:
13



Question Number : 6 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

HHET 5", I ﬁﬁ'f ay, 8y 8z, o, a"%r'? q9H
n 91 % IM = Z901 2 | ?Iﬁ{a5 tag=1 T4l
Sg=6¢, T 7 § ¥ &H | UF T el &7

Options:

. 03

2. 230

Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

QRls S = MUk Hell (A.P)a, ayay .. a,
Al Wdel n YELAL MUl U B, sd ag +ag=1
A Sy =6 €1, ol Al2ioll s w4l

Options:

1.

1o,
Bag =i



Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

9 y b i r;\lg

If D - | e = [‘!:1 .

/] L1

2)

t B, then

o+ is equal to :

Options:

l.. =

B

Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

afe 9,[r I E}QCT =u‘(£\lg| B % Gl

r=1% zr 4 \2J
a+tPFHAAE :

Options:

1. 2



Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

9 9
& A +3 33 « «
o }4{! - ]‘J’C, =n{—J FB el dl
r=1"% 2 \2
a+p=_ _ ;
Options:

1. 2

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Let a function, f: (—1, 3) — R be defined
as f(x) =min{x[x], x[x]— 2|+ 2}, where [x]
denotes the greatest integer<x. Then fis :
Options:
neither continuous nor differentiable
1 at exactly 3 points.



not continuous at two pomts and not
2 differentiable at 3 points.

neither continuous nor differentiable

g at exactly two points.

not continuous at only one point and

4 not differentiable at three points.

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A U e f:(~1,3) = R,
f(x) = minfxfx], [x[x] 2| +2} grT WfeenfE
E’ﬁ[:{},ﬂﬂﬁﬁ%’gxﬁlm%ﬁu:
Options:

A 4 fegadi w9 o Had € AR A @
1. sEFHE 2

21 feigeli W Haa @ € aun o fage
2 W sEEEE T €

A= 3 figell A @ daa & e A @
3. FEEHeHE g

el U Tag W Haq el ¢ a4 ae
4. Tgel W sEwera 76 2

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1



qel @84 f: (-1,3) = R=
f(x)=min{x[x], |x{x] -2/ +2} gl c4rlid
€14, sl [x] 2 Herd el yells < xsls, ol f
2 :
Options:
oRlor 3 [Lig2ll 210 Hdd el -2l 5
1. Esadl e 42l

o [egAl 2t ddd El =14 3 (G5l
2 2w [sad el

oo o (g2l 2o udd el 2l 5
3 Esadl w2l

ssel s [ 2000 Hdd 2l 2 A
4 (g2l 2o (sl il

Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Dx{x =1} Gx[l =) )

lim {lnge _

xr—1
.lnge{:ix{x---l}]} isequal to:

Options:

].. 2

g —2log,2



4 1 IﬁgﬂE

Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

lim {lnﬂE ['U.r{x 1) _ ox(1 x}}

r—
Toge (4x(x—1))} TR & :
Options:

1. 1

2 log, 2
3 2log,2
4 1-log,2

Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

lim {IUHE t.L?I{I 1) L"I{I x) :I
r—1 !

loge (4x(x~1))} =

Options:

1. 1



4 1 Ingﬂz

Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The function f(x)=e**1! (4x2—16x +11)
is :

Options:

ﬁ‘lcreasmgin[ ©, 1) L (E, X]

1.

9 ::lecreaﬁf_ngm( 50, g] 9, (l x]

decreasing in{ o, lw s (E, 11

4.

Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

e f(x)=e*t ! (4x® - 16x+11) :
Optiohs:

( =, %J U E xwfiiﬁ‘fql:!%l

;

1.

5 (=, —2) U (2, =) § adHFA ¥



Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

(B84 f(x) =e*+ 1 (422162 +11) =L :

Optiqns:
(o 1) U (2, =] uiaas.
1* LS 2/' '~_2 ')

2 [ %, =2) U (2, =) Hi 48 8.

Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The area (in sq. units) of the region

{[:r,y]l:% =y =sinx, 0 = x = W}’ IS :
Options:

F=
1. 3

¢

[~a
w | =



b
|

&
]

s
o | 9

Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

213 {(1‘,];] : = < y<sinx, 0 <x < 7
2 J
1 e (a sTEdi H) B

Options:

g
3

Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

]| J’{x,y] : ]— <y <sinx,0 £ x = w]»
| 2 |
o s (Al 2wul) B,
Options:
S
1. 3



7 3
32T

3. 3
.

4. 6

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If x = x(y) is the solution of the differential
equation, ydx-— (x+2y%)dy=0, with
x(—m)=m2 then x is equal to :

Options:

1 23;27.—2

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

afgs  x=zx(y), HAIHA IHIH T
ydx — (x4 2yA)dy =0, x(— 7)==, F TAE,
T"-ﬁxw%:

Options:

1. -



2 2y + 3y

3, Y-y

4, Wy

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
sl x=x(y) «  [asa wdlsw
ydx — (x +2y)dy=0 -l G5 iy, sl
x(—m) =72 dl x=
Options:

1 Zyzwz

2 27+ 3wy

4. Ty

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A ray of light is projected from the origin
at angle of 607 with the positive direction
of x-axis towards the line, y =2, which gets
reflected from the point (o, 2). Then the
distance of the reflected ray of light from
the point (2, 2) is :

Options:



| .
2 2[1 EJ
3.3-\3

N it
4 V3

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

eI ol U [0, §e fog | 1-A9 F] 9+
ferem § 607 % =101 9 @1 y=2 Fl AR FHTId
FI 9 €, S TF &g (o, 2) T WEfda & S
21 @ feig (2, 2) | wEfda 9w it fwo
Qﬁw%

Options:

1. V3 -1

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1



ustld el x-2al alan 1@ 607 4l vel
eietled o Zld Gorleig wwell Yl y =2 dzg uEY
s2ellil 20 8, o (G5 (o, 2) uredl wualdd 2
6. ol usi2iAl 21 weldd (s g (2, 2) @l
Rt L.

Options:

1. V3 -1

, 1)

3. 3-8
1
4 B

Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

2 2

Let the ellipse, — Y. - 1, a > b, pass

a b2
through the point (2, 3) and have

1
eccentricity equal to E Then equation of

the normal to this ellipse at (2, 3) is :

Options:
1 2y—x=4

2' 2x—y=1

3 x—-y=3



4 3x—2y=0

Question Number : 14 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
)

2
T S :—2 F L= 1,a>b 72 3)

bE

Y = 1 =
2 S E q T Iohad 5, T (2,3)

T 9T F SAfues 1 gHEm
Options:

1 2y—x=4

2 2x—y=1

3 dx—y=3

4 3x —2y=0

Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

2 2

e, .1 - -
Qs Guagy — 4 Yo=1,a>ba B
a b~

. 3 4 ' 1 -
(2, 3) izl Wz w4 B #A ddl Gobegetl 5 ©

dl (2, 3) 201 24 Guaas-L 2i(Gdo 23{ls2L
8.
Options:
1 2y—x=4



Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If a variable plane in 3-dimensional space
moves in such a way that the sum of the
reciprocals of its intercepts on the x and
y-axes exceeds the reciprocal of its intercept
on the z-axis by 2, then all such planes will
pass through the point :

Options:
(l 11
1 Va2t 2y

2 32
L
3. \2.- 2' 2)

A
s
b3 | =
B3| =
e, e

Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1



Ffg Ta =1 FHaa HAfEaHE (3-dimensional)
AT H TH WHH el © fF THE x a9
y- AL I FA<:E S| & HokHl B AR
THF - A T A AN:GS F Gk 9 2 AU
2, O 1Y wdl g9ae fog fag 9 g s, =2
e

Options:

Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

od Bruleaell wiesieml »is uldd wdd 21 <ld

WA B 5 o/l x 2t -2l YA L @i vl

cofiectedll MRAUOL B z-2AH YL el 2 vl

3l 57cll 2 o2l oY G, ol 2L ER5 AU ddl
(igaizll vz 22l

Options:

{lll}
1 2" 2" 2

b2

L]

g———
| =

B3| =

B3 | =

.



Question Number : 16 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
If the volume of a parallelopiped whose

—3 A, A M

coterminous edges are a= 1 + j +2k

r

.—} M A A .—r A M e
b=2i +Aj + k and c=2i +2j + Ak

a value of

is 35 cu.m, then

.—}—:v — — — —
a-b + b-c c-a 1s:
Options:

1. 2
2 14
3 10

4, 2

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

I TF I TEHAS fa9E FeraErl

a — M A A

(coterminous) TFIR a=1i + j + 2k,
-—" it Fan M -—} .y Y M
F2f +kk

b=2i +Aj + k q91 ¢=2
AFad 35 cum T,

b

2, @I

c-a WWW%:

— = — —

a-b + b-c



Options:

1. 2

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

— A

3 ¢ Fa FA%
sg-il Bisefload A cusy=ll a= i + j + 2k,
b=2i +Aj + k wd c=2i +2j + Ak
S el Aicr 55 artsn 35 ud Hl €, ol
ab + b-c c-a ol Bua
%12,

Options:
1. 2

7 -4
3 10
4 2

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1



)

If 10 sin®a+15 costa=6, ac f G
\ 2)

then 27 cosec®« + 8 seca is equal to :

Options:

1, =

9 270

/), 240

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
¢ b

Ifg 10 sinfa+ 15 cosa=6, ae [ % |

m|:’|

2, 127 cosecPa + 8 secta AT T

Options:
1, #0
2 270
3. 20
4. 240

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

' 7 R,
¥ EJ

sd 10 sinta + 15 costa=6, ae l

".

k|4

S, dl 27 cosectu + 8 secPu =



Options:
1. 280

2. 270

4. 240

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A bag contains 6 red balls and 10 green
balls. 3 balls are drawn from it one by one
randomly without replacement. If the 3rd
drawn ball is red, then the probability that
the first two drawn balls are green is :

Options:

1. 37

2, 3/8

3 9/56

4. 9/49

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1



TF 9 H 6 e 99110 7 IS F 1 THE 4 U
UF Fh A=Al 3 e, fa gfaem =,
Forrrett St &1 afe frerrel 18 | e e
® W T T veel &1 WS F w0 @
mf&?sm%:

Options:

1. 3/7

2. 38

3. 9/56

4. 9/49

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

w5 Sl 6 | £50 2l 10 dlal 261 5. cmizdl

3 £5LHE R8s dld 218 wssl 215 yeaelRled deuui

el 8. ot Al 2uad st 251 A €, dl

Yl el 2udd o gol dldl ¢ adl HeusHt
21,

Options:

1. 3/7

7 3/8

3 9/56



4. 9/49

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Let the data4, 10, x, y, 27 be in the increasing,
order. If the median of the data is 18 and
its mean deviation about mean is 7.6, then
the mean of this data is :

Options:
1 1

3 16.5

4. 17

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

HET SA1HE 4, 10, x, y, 27 T20 HA H €1 A
HAlF2 F 1 18 T a1 571 J= F G
e fager 7.6 2, ° 59 SATHel &1 9 2
Options:

1. 155

3 16.5



Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

aals Hlgdl 4, 10, x, v, 27 24 Ul 5441 S, ad

HUledlal W 18 €U i de, WeasHl Ui

weual [Bad 7.6 ¢, dl 2u aldda weus
8.

Options:
1 15.5

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which of the following is not equivalent to
o~ PAq?

Options:
1. ~Pv~9
2. "P7

3lFﬁrﬂm



A ~pA(~p—q)

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A FAFA A ~p A q FTA T 8?7

Options:

1. ~pv=9)
A
3. ~(q—p)
4. ~pA(~p—9)

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Al=iArizl 4 ~p A q A HusE 4]

Options:
1. ~(Pv~9

7 “P7~q
3 ~@—p)

4 ~PACP—Y



Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

If the total number of ways in which
8-digit numbers can be formed by using all
the digits 0, 1, 2, 3, 4, 5, 7, 9 such that no
two even digits appear together is (5!)k,
thenkisequalto

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

100to 100

Question Number : 21 Question Type: SA
Correct Marks: 4 Wrong Marks: O
7fg |t &+ 0,1,2,3,4,5,7,9 F T4 4,

L Y L} * =

8371 ATell UM HEAW, T #1E of 31 993®
U WY 7 A, T A HF o Fel Tl i
e 5Ok E KkFMAAE |

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

100 to 100

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

od SHellsy 251 0,1,2,3,4,5,7,9 -l Guzla 57
A, SlUEL oL Y3 2zl 25 UEL A4 20d d dd
8-isll v erttgarl 2l (50k €M, dl
k=__
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range

Possible Answers:
100 to 100

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0

2
40503625
Yes



Let f(x) [k — 3 , if x<-1

X) = 4 r

' |3 x+ 4, if x=-1
g(x) =x2—bx—2 (x ¢ R) and b is a real
constant. If gofis continuous atx= —1, then

bisequal to

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

5t05

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

J_x 3 , AR x<-1
|3x+ 4, T x = -1
g(x)=x2—bx—2, (xe R) 741 b TF ardias®
T E| AR gof, x= — 1 R HTA &, T b T

# |

r

HE f(x) =

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

5t05

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

f -

P J:r ], ot x<-1
URLS f(x) = "
3z +4, 4 x=-1

r

gr)=22-bxr—2, (x ¢ R) 21 b 21 qidlds
AN O, ol gof B x= — 1242101 Heid €1
dib= 21,

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
5to5

Question Number : 23 Question Type: SA

Correct Marks: 4 WrongMarks: 0

If Jel"' (cosx + 7 sinx) dx = ehg{x} o,
where ¢ is a constant of integration, then

!

g(0) g{%J is equal to 5



Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers :

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Ife
jc-?—" (cosx + 7 sinx) dx = e*g(x) + ¢ ¥,

)

Tl ¢ U FAREH A= T, A g(0) {

Ml—i

ELETa l

et i i

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

=

|

je‘h (cosx + 7 sinx) dx = ehg{x] it

sl ¢ 4 sl 215 G dl g(0) | = | =

CIER

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

If the line joining the points (—1, 2, 5) and
(3, 4, —10) intersects the xy-plane at the

1
point (x, y, z), then i is equal to
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range
Possible Answers:



Question Number : 24 Question Type: SA
Correct Marks: 4 Wrong Marks: O

g fagsti (—1,2,5) T4 (3, 4, — 10) =l faem
AT T xy-Tae 1 o5 (x, y, z) T HEAT T,

S e L Bl e

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers :

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

[Cig2tl (—1,2,5) 21 (3, 4, —10) A sasell 2wl
v

X

xy-HHdad (65 (x, v, 2) 4 oedl € dl

e ————— —

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Leta,be Randa > 0. If the tangent at the
point (2, 2) to the circle x> + > =8 touches
the parabola y¥*=4a(x —b), then b—a is
equal to

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

AMla, be RTAMa>0F| Afg I 22 +12=8

* fag (2, 2) W Eidl TS WEE], WAy

y2=4a(x—b) FI T FAE, Mb—a TR T
|

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range



Possible Answers:

Question Number : 25 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

4Rls a, be R »a >0, sd ddiix?+ 12 =8l
(%5 (2, 2) 2l 2uels, wwaad y2=4a(x — b)
A@ldib-a= Y,

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Aptitude Test

Section Id : 40503618
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 50
Number of Questionsto be attempted: 50
Section Marks: 200

Sub-Section Number: 1

Sub-Section 1d: 40503626

Question Shuffling Allowed : Yes

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which one of the answer figures is the correct mirror image of the problem figure with respect
toX -X?

Options:

,
1 e ,
L]



Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

IR AR | T AT S ST W9 SMH B X - X W i HE S gidtae & 7

X

Options:

"

e \




Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

seelle 245 [l 58 2usld we 2usld X - X AL 2da el wAle (mirror image) 8 7
15 15 1l g

X
'-\.1‘ e,
1'\. -
A
X
Options:
-
= i)
1 g kY

o
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-
.--""-‘:I ;
."'-. .'l'
- __."'
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i ‘\.\
|
e J
..,-"L .*';
—— iy
o
i
-

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1



Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X7?

Options:

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

I AT | T FAET SAHA < T AT AH B X - X T w9 i giata 2

X

Options:



3. ke

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

syclled wigldoliieAl 58 2ugld ue 2ugla- X - X Al wrda edel uldlGel (mirror image) 8 7

X
L\\ _.."'/
N
X
Options:
—
1 L
NN
2.




Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X?

o
Fo \
L. =
L]

4 A

Question Number : 28 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 4 WrongMarks: 1
I SAFH T H W HAE SFH & T A SAFH X - X T =i w@l o7 gatee 2

X

2. =

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

seled 2l daiididl 58 2ugld et 2ugldd X - X Al 1nis 2det uldle (mirror image) 8 7

X
Q] [ {
SR
:""—-w‘-\_l'i

X

Options:
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Question Number : 29 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
Which one of the answer figures is the correct mirror image of the problem figure with respect
to X =X7?

1. X
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Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

IR AHEE H T FIAE ATFTT & T T STH B X - X T T g8 g gfafa g2

X

o T
1 - II'
L

Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1



syt A2l 58 25l de 2ugla- X - X Al e edel wd[Ae (mirror image) © 7

X

Options:

o+ a,m
et Al

1.

—
= .

ol

3.

Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X7?

X
_fi\%##“'\-\.
{1
™,
<
X

Options:



Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

I Sl § H B SH & T A St # X - X § gt 92 2 wfafae §2

X
_-'ﬁ". _.-""-"'h
X
SN
X
Options:
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Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

sgcllol wig(dutiuidAl 58 2ugld ue 2uglad X - X Al urdg gdel wldlGet (mirror image) 8 7

X
Tfi’
X
Options:
‘fﬁ'"x "'}"'-.
.f,ﬂ: A
1 i




Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The problem figure shows the top view of an object. Identify the correct elevation fromamongst
the answer figures looking in the direction of the arrow.

Options:

e 5]
1.

H'\/ I".I _."ll‘l

Vi

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U9 i § TR 9 o S99 9 femrd T E | o 6 feen ¥ S 5U S endfadl § ° oo el
T 599 TREA |

Options:



1.
Kl ;_IH
2.
3
Al
4,

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U 2A5(A 215 g Guil £ (top view) salidd 8. dlz-l B2l sadl, i 2] G~id £#4 (elevation)
sl 2iglaasiel gl

Options:

[
1

-
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Vi
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Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The problem figure shows the top view of anobject. Identify the correct elevation from amongst
the answer ligures looking in the direction of the arrow.

L]

Options:

L

1. —




1. '

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

¥ ST | TRl =g 1 Rl 599 e T e | o e § S g SR Sk adl § W sH Wl
TR 399 T |

Options:

1. —

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1



Uar 2ig[d 2is dege Guil 224 (top view) g2l 8. dlz-l Eausl sddl, 2i 2412] G~id 224 (elevation)
spelied gld=iuizl eldl

Options:

L

1. —1

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The problem figure shows the top view of an object. Identify the correct elevation fromamongst
the answer figures looking in the direction of the arrow.

]




Options:

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

¥ ST | Tt 9 =1 9 999 e T g1 9 0 faeun ¥ S gu S nshfadl | | sHE wel
HEE gY9 TEEnd |

]

AN

Options:

B

2 ﬁ'




4. [4’

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Usd 215l 245 s Gudl e (top view) gl 8. kel Eauwl sadl, 24 22 Bt £24 (elevation)
seeled 2agld2iiuisdl el

Options:




==

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The problem figure shows the top view of an object. Identify the correct elevation from amongst
the answer figures looking in the direction of the arrow.

Options:

P —

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1



YA TR | TRt g 1 SR 99 femar T ¥ | IR 1 e F S gu IR enE el | | sue we
HE[E 994 TEAnd |

Options:

4 T

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

e 2s(d 215 dge Guil 294 (top view) g2lld . dle-dl B2usi sddl, i 412 G~id €24 (elevation)
spelled (d2iluizl el

]

Options:



Question Number : 35 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
The problem figure shows the top view of an object. Identify the correct elevation fromamongst
the answer figures looking in the direction of the arrow.

Options:

1.




Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

7 it ¥ Tt = 1 Sl e e T B 1 AR e B S gu s et § A sae we
T 399 TEEnA |

Options:




Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

U 2iigld 215 g Guil 294 (top view) g2lid 8. dla-l Easl sddl, i 12] Gid €24 (elevation)
sgelled 2l 2imizdl el

Options:

1.

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.

o

b

Options:



Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1



3 - D U¥A S H U 95 F U 999 H famm T ¥ 3 gvdl ° 9, Wed 9% % el S & 9@l
T9I TR |

Options:

[— -
1. ]
2. =

L= -




Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D M 25lA 25 g e adid O, 20 2l vidl Bl wue R dd M e s
215 [z 2uial

Options:




Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer [igures.

e
A
A

.-"-"

Options:




Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 -D YA AHTa H U 95 F UF 299 5 fomm T ¥ | S9 9vh § 4, 99 95 & gl 9 & TEl
99 TR |
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Options:
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4. i

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1



3-D st 2l 25 g £ ol 8. @il 2igldd vidl Banl 2 i dd WE) £ s
1 [zl 2lial
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.-"'- -1
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Options:




Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.

a7

Options:

(==
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=




Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 -D W 3% ¥ U 9% F UF 579 F femd T ¥ 1 S g9l ° 9, 99 95 F 9o 9 % w0
99 TR |

.-'-"'

Options:

e




Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3- D ud 2l 25 g £ ol B, 2 2glad vildl EEl 2ud o4 de Wi e e
vtz qlial

.

Options:



15
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Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.

Options:

L]




|
onl
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5

Question Number : 39 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1



3 - D W¥ =THfa H U 9% % UH 399 I foadn T ¥ I 99l | 9, U g F WA WM & Tl
299 B |

Options:
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Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3- D U wugld 25 srdd s ool 5. w1l 2ulad vidl Bml pud ol dd We) e s
gzl 2l

",I' ."- & ;

Options:
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Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.

ol '
i .""_.-" A
/{‘J /
4
Lr a
!
/

Options:




Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D ¥ ARG § U 9% % UF 999 I fow@mn v ¥ 3 gvdl § 9, Wi 9% % gd 91 6 9@l
T9 TR |

I_..* /-f_ij_f‘
Y
Fa l."r
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Options:




Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D s 2gld 215 g e o 6. 2 2glad vidl gl 2 o d- wie] e s
1y [tz 2uial

Options:






Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

O
“o

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

¥ e 3 T 1 SO0 2va fommn T ) dR w5 e H g gu S o taal 3 9 9E IE
¥ Yo |

SO
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zf\‘-\
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Options:



Al

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

u 2ild 5185 dgalld Guil 294 (top view) “did ©.  dladl Easl eddl, 2 e Getd £y
(elevation) srellel 2iugld=ixizl 2l

Options:
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Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

i

=
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A
i A

Options:




Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

¥ SHa | FEgeii 1 39 2vg femmn @ 2| 9 F1 f9e § g|d gy S el § 9 HE Hepa
TYY R |

S|

I} =
=

s
-
-

Options:




Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U 21i5(d 5195 @il Guil 24 (top view) “did ©.  dl-l Buril eadi, 20 2] Gd £x
(elevation) syellet 24521l 2llel.
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Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1



The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

U
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/.-" /|'\. \\

Options:

L
=

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

9 A1Hia 8 T 1 S v femmn T 21 IR #1 e § Sud g S et § 9 9 Ay
299 qEEI |
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Options:
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Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U 2igld slds gl Guil 22 (top view) v 8. dla-dl Bl sddi, 2 w2 Gd £2y
(elevation) syell“ W@ﬁmﬁﬂiﬂ 2Ul4lL.
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=

Options:

I




Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

— [

Options:

1.




Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T T H Sege 1 S gva fammn T ¥ ) di # foe F dEd gu e st § ¥ wd an
299 YR |

]

Options:
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Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1



M 2igld slds sgalld Gudl 2 (top view) ddid 8.  dlr-dl Ersi sddl, 2ud W2 G-d £wy
(elevation) syeitet 2iugld=ixizl 21l
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Options:
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1.

=T
=N

B B

Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.




Options:

1
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Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

¥ A H T w1 90 5v9 femm T 7 9 # for ¥ Ted 3u sw AEfad § O uE aega
T9 TR |

Options:
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Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

u 2igld slds srqalid Guil 224 (top view) ddid 8. dldl Bl sddi, 2 w2 G- e
(elevation) sydl™ wﬁ%ﬁ‘ﬂﬁﬂiﬁl 2L
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Options:
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Question Number : 46 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

~ it
" = t:;?" -‘:\]
2y 5 o T i - -
L~
Options:

1.

Question Number : 46 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D W SThfd H UF 9% & UF 5vF I @ T g U HE S 994, S AThfad ° 9§
qEEI |

Options:

1.



Question Number : 46 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - DU 204ld 25 e 28 A . 20 Wie] Gyl 294 (top view) sretiel 2uglaiaial el
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Options:
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Question Number : 47 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

Options:

1. U

I3

Question Number : 47 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - DY oA1Ffa § UF 9% F UF 399 F fom T ¥ THH R FWI §¥d, S Had 4 9
ey |
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Options:
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Question Number : 47 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - DU 2sld s g 22 cdld 8. U 12 Gyl 284 (top view) srellel 2uglaiizl lEl
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Options:
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Question Number : 48 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

Options:

1. U

Question Number : 48 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1



3 - D W A H UF 9% F UF 99 &I @ v g1 s HE S 999, SW ATHad § 9§
e |
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Options:

Question Number : 48 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - Dus 2isld 25 g e o 8. v W Gul 224 (top view) ardlet 2zl LAl




Question Number : 49 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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Options:
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Question Number : 49 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D W ST § U 9% % U 599 I fSEE T ¥ SHE HE T v, S SHad 4 9
TE=d |
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Question Number : 49 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 — D U 2igld 2is gdd F8 il 8. 2 22 Guil 224 (top view) srstiol 2ugldaaizl el

Options:



Question Number : 50 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

Options:

1.




Question Number : 50 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D WY A § UF g F UH o9 I fm T ¥ sHE B S0 vy, S sNShiad 3 9
T |

Options:

1.

Question Number : 50 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1



3 - Dy 2Hgld A5 R 8 Al 9. 2 W2 Gul £ (top view) sretiel 2uglaziil LAl

Options:

1.

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options:



Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - D U 2TEHfd H UF 95 F UF 399 1 fe@mn T E | 9 i fen § S| gv, sue 9eE gyl
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Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - DU 2l 25 qrqd g2t odid 8. ddla-l Bl sddll, 2uq 412) 224 sveot 2agldusizl el

Options:

L
1.

&

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options:
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Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D 99 A § U 9% F U 94 F1 @ T g | o Fi fown ¥ 2w gu, T IR g9
I AF A H I TE= |

Options:
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Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - DU 2lgld 2 g e i 8. dleedl Bl sadl, 2uq e 24 srsiet 2ugldaimizl wual

Options:
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Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options:

=

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - D 99 SNHfa § UF 9% F U 999 F femmn @ 21 d9r #i faen | 2w g, s gm ey
I A H H TR |



Options:

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - DU 2gld 21 drgd 2ot edid . dla-l (Bl sddl, 2 3] 224 srenot 2agldasizl 2iel.

Options:

=t




Question Number : 54 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options:

1.

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1



3 - D 99 A | UF 9% F UF 9vd F1 fommn mn ¥ 1 A Fi fown ¥ S gu, Toe OeyE Tvg
IR AFHTE H ° TE=T |

Options:

1. &5

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options:

=




Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:



Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options:




Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures,
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Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Buckingham Palace is the Residence of
which one of the following ?

Options:
1 Queen of England

2 King of Netherlands

3 King of Prussia

4 King of Nepal

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

In the Northern Hemisphere the winter sun
rises from which one of the following
directions ?

Options:



1 North East
2 North West
3 South East

4 South West

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which one of the following is a purpose for
installing false ceilings ?

Options:
1 Supporting the walls

2 Making the building water proof

Making the space acoustically
3 effective

4' Making the building fire proof

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

wiZl &5t (false ceilings) 22yl @@ A=kl
TRSY)

Options:

1. [Eencinn 251 e

2 SHRAl ORI (U2Ys) il

3. ol el USRS AL

4 JHRdA PPRIES (5147Y5) ool

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

What amongst the following is the
thickness of a two brick wall ?

Options:
1 18"

2 20"

3 16.”’



Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:

1 ISH'

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Where from among the following is the
famous St. Peters located ?

Options:
1 Denmark

2 Norway

3 Rome

4. Venice

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

In which State in India are the large Tea
Gardens located ?

Options:
1 Punjab

2 Uttar Pradesh

3 ) Kerala

i Odisha

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:

1. Medet

2. Grn uzal
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Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Where from the following is the National
Gallery of Modern Art located ?

Options:
1 Bangalore

2 ) Lucknow



3 New Delhi

4 Mysore

Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which one of the following is a secondary
color ?

Options:
1 Green

7 Red

3 Yellow

4. Blue

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Al AL 541 391 2is 3oL 31657
Options:

1. dldl

7 Ad
3.
4. vl

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which one of the following is considered
to be a calming color ?

Options:
1. Red

2 Orange

3 Green

4 Blue

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 69 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 4 WrongMarks: 1
et ® | 1 |14 90ia = S 22
Options:
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[
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3 W

4, T

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Options:
1‘ A

7 ARell

23 dlal

4, ®

Note: For thisquestion, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1



What is the texture of sand-paper ?

Options:
1 Coarse

2 ' Glossy

3' Smooth

4 Shiny

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:
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4. 245,

Question Number : 71 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

What is the purpose of a chimney in a
building ?

Options:

1 . To give strength to a building

2 . To hold the building up

To take out the smoke from a fire

3 place

4 To make the building water proof

Question Number : 71 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 71 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 72 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

What among the following would be the
ideal material for flooring of a steel
factory ?

Options:
1 Wood

2  Tiles

3 Granite



4' Steel

Question Number : 72 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 72 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 73 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Who was the architect of the LIC Building
in Connaught Place, New Delhi ?

Options:
1 Raj Rewal

2 Charles Correa

3 Louis Kahn

4' Zaha Hadid

Question Number : 73 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 73 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 4 WrongMarks: 1
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Question Number : 74 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Who was the architect of the glass pyramid
al the Louvre Paris ?

Options:
1 Frank Lloyd Wright

Walter Gropius
> P
3' M. Pei

4 Charles Correa

Question Number : 74 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 74 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 75 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Who amongst the following is an
architect ?

Options:



1 Geoffery Bawa
2 Sharmila Tagore
3 Louis Armstrong

4 Donald Trump

Question Number : 75 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 75 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 76 Question Type: SUBJECTIVE
Correct Marks: 50

In the space provided for the answer of this
question, draw an aesthetic composition
appropriate to this space using only
equilateral triangles. There is no restriction
to numbers, sizes, placement and directions
of these shapes. Color this composition so

that it becomes visually exciting,.

Question Number : 76 Question Type: SUBJECTIVE
Correct Marks: 50



TH YUY % 39 % oW YEH ® T SE H,
Hae THqed HH0 F AT FE 51 =
%F o S U died W TER #E 1 g
T IS Wia=s 8 &1 TH =1 H T € A
7g gfte | TWi= 2 = |

Question Number : 76 Question Type: SUBJECTIVE
Correct Marks: 50
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Question Number : 77 Question Type: SUBJECTIVE
Correct Marks: 50

Draw from imagination a mother cooking
in the kitchen.

OR
Draw from imagination a beautiful
building,.

OR

Draw from memory the face of one of your

par ent.

Question Number : 77 Question Type: SUBJECTIVE
Correct Marks: 50
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Question Number : 77 Question Type: SUBJECTIVE
Correct Marks: 50
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